

1. (1) 左辺 = $\sin x$

$$= 2 \sin \frac{x}{2} \cos \frac{x}{2}$$

$$= 2 \tan \frac{x}{2} \cdot \cos^2 \frac{x}{2}$$

$$= \frac{2 \tan \frac{x}{2}}{1 + \tan^2 \frac{x}{2}} = \frac{2t}{1+t^2} = \text{右辺}$$

(2) 左辺 = $\cos x$

$$= \cos^2 \frac{x}{2} - \sin^2 \frac{x}{2}$$

$$= \cos^2 \frac{x}{2} (1 - \tan^2 \frac{x}{2})$$

$$= \frac{1 - \tan^2 \frac{x}{2}}{1 + \tan^2 \frac{x}{2}} = \frac{1-t^2}{1+t^2} = \text{右辺}$$

(3) 左辺 = $\tan x$

$$= \frac{\sin x}{\cos x} = \frac{2t}{1-t^2} = \text{右辺}$$

2.

$$\int_0^{\frac{\pi}{2}} \frac{dx}{\sin x + \cos x + 1} \dots (*)$$

$$t = \tan \frac{x}{2} \text{ とする}$$

$$\frac{dt}{dx} = \frac{1}{\cos^2 \frac{x}{2}} \cdot \frac{1}{2}$$

$$dx = 2 \cos^2 \frac{x}{2} dt \quad \begin{array}{l|l} x & 0 \rightarrow \frac{\pi}{2} \\ \hline t & 0 \rightarrow 1 \end{array}$$

$$dx = \frac{2}{1+t^2} dt$$

よ、

$$(*) = \int_0^1 \frac{1}{\frac{2t}{1+t^2} + \frac{1-t^2}{1+t^2} + 1} \cdot \frac{2}{1+t^2} dt$$

$$= \int_0^1 \frac{2}{2t + (1-t^2) + (1+t^2)} dt$$

$$= \int_0^1 \frac{dt}{t+1} = [\log(t+1)]_0^1$$

$$= \underline{\underline{\log 2}}$$

類題

$$\int_0^{\frac{\pi}{2}} \frac{dx}{3 \sin x + 4 \cos x + 5} \quad \left. \begin{array}{l} t = \tan \frac{x}{2} \\ \text{置換} \end{array} \right\}$$

$$= \int_0^1 \frac{1}{3 \cdot \frac{2t}{1+t^2} + 4 \cdot \frac{1-t^2}{1+t^2} + 5} \cdot \frac{2}{1+t^2} dt$$

$$= \int_0^1 \frac{2}{6t + 4(1-t^2) + 5(1+t^2)} dt$$

$$= \int_0^1 \frac{2}{t^2 + 6t + 9} dt$$

$$= 2 \int_0^1 \frac{dt}{(t+3)^2}$$

$$= 2 \left[-\frac{1}{t+3} \right]_0^1$$

$$= 2 \left(-\frac{1}{4} + \frac{1}{3} \right) = \underline{\underline{\frac{1}{6}}}$$